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Q.1 According to IS 456 : 2000, for the placing conditions of concrete is given under List 1. match the corresponding slump
values measured in accordance with IS : 1199, given under List 2. Use the codes in the list for matching.

List L List2

M. | Lightly reinforced 1.| 50 to 100 mm
sections in slabs,

beams, columns

N. | Heavily reinforced 2.1 100 to 150 mm
sections in slabs,
beams, columns
O. | Trench fill

P. | Pumped Concrete, slip | 4. |25t0 75 mm

b ad

75 to 100 nun

form work

Ans o A M-4,N-1,0-2,P-3
# B.M-2,N-4,0-3,P-1
X C.M-2,N-1,0-4,P3
2 D.M-2,N-3,0-1,P-4

Question ID : 97675534756
Status : Answered
Chosen Option : A



https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

Q.2 According to IS 383 : 2016, the maximum quantity of deleterious materials (except mica) in
uncrushed Fine aggregate (expressed as percentage by mass) is:

Ans o A 5%
& B.1%
K C.7%
X D.3%

Question ID : 97675534629
Status : Answered
Chosen Option : B

Q.3 The purpose of an open cross staff in chain survey is :
Ans & A Setting perpendicular lines to survey lines

< B. Setting out a line at an angle to a survey line at a point
# C. Alignment of a survey line

#< D. Marking of survey stations

Question ID : 97675534660
Status : Answered
Chosen Option: A

Q.4 The following statements (S1 and S2 ) pertain to the effect of moisture content in wood.
Comment on the correctness of the statements

S1 : The mechanical properties of wood are not materially affected by a reduction of the
moisture content upto the Fibre Saturation Point.

S2 : Shrinkage of wood in the longitudinal direction is greater when compared to the radial
and tangential directions, for a change in the moisture content from the Fibre Saturation
Point to Oven dry.

Ans X A. Both statements S1 and s2 are False
«” B. Statement S1 is True and statement S2 is False.
#< C.Both S1 and s2 are True

#< D. Statement S1 is False and statement S2 is True.

Question ID : 97675534637
Status : Answered
Chosen Option: B

Q.5 Us & & fAQ snmga= WR (buckling load) fore feafa # s1fdraras ghm?
Ans X A af & &1 g RRT Sfaedst (hinged) &t ok gavr R @d= gl

75 B. afe &1 & &l R sraeidlt (hinged) &I

X C. afe w1 o1 goh RRieg (fixed) 81 SR g@rT fEwT @@= gl

o D. At w1 & Q1 RReg (fixed) &l

Question ID : 97675534745
Status : Answered
Chosen Option: C
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Q.6 Identify the correct statement(s) associated with providing super elevation on railway

curves.
S1. Cant Excess : Occurs when the train travels around a curve at a speed higher than the
equilibrium speed.

S2. Cant Deficiency : Difference between the actual cant provided and the theoretical cant
required at low speeds.

S3. Maximum permissible speed : Highest speed permitted to a train on a curve taking into
consideration the radius of Curvature, actual cant, cant deficiency, cant excess, and the
length of transition.

Ans X A.S1,S2,S3
«” B.S3only
X C.S1andS2
#< D.S2 only

Question ID : 97675534735
Status : Answered
Chosen Option: A

Q.7 Uh-ATEH &g U IUHUT (Pensky-Martens closed cup apparatus) T SUHART ehich fagh=T U=
forT ST et uteqor T T T @2

Ans o A Tgieh 3R &I uieroT (Flash and Fire point test)
X B. egar uderun (Viscosity test)
X C. amifées viea udteroT (Specific gravity test)
2 D. Hge foig udteror

Question ID : 97675534730
Status : Answered
Chosen Option : B

Q.8 ¥aI H G o SR, HaT & AfhT Y-31e (pa) R AfShT -3 (pp) uR fRewoft w32
Ans X A pa3iRppaHiaed g

& B. pa uedr g 8k pp Sedl e

X C.pa 3R ppaiged §

#< D. pa &I 8 3R pp Tedr g

Question ID : 97675534687
Status : Not Answered
Chosen Option : --

Q.9 The zero or 360 degree graduation in the graduated ring of a prismatic compass is marked
in the :

Ans X A. Eastend of the circle
#< B. North end of the circle
4 C. South end of the circle
5 D. West end of the circle

Question ID : 97675534663
Status : Answered
Chosen Option: C
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Q.10 Match the code of signals for direct ranging. The List 1 indicates the Signals by the
surveyor and List 2 indicates the Action by the assistant in the field :

List 1 List 2

M: Rapid 1. Continue to move to the left
sweep with

left hand

N : Slow 2. Move considerably to the left
sweep with

left hand

O: Left arm 3. Plumb the rod to the left
extended

P:Leftarm | 4. Move slowly to the left

up and moved |5 F e rod in position

to left

Ans X AM-2,N-1,0-4,P-5
& B.M-2,N-1,0-5P-3
o CM-2,N-40-1,P-3
A D.M-2,N-4,0-1,P-5

Question ID : 97675534662
Status : Not Answered
Chosen Option : --

Q.11 The test used for the determination of Optimum moisture content of a soil is :
Ans & A Standard Proctor test

#< B. Standard Penetration test
#< C. Triaxial test
#< D. CBR Method

Question ID : 97675534678
Status : Answered
Chosen Option : B

Q.12 As per IS 10500:2012, the permissible limit of turbidity (in NTU) in the absence of alternate
source is

Ans X A1
X B.15
& C.5
% D.10

Question ID : 97675534699
Status : Answered
Chosen Option: C
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Q.13 Identify the physical property which is different in the three grades of Ordinary Portland
Cement ( 33 Grade, 43 Grade, and 53 Grade) used in India?

Ans X A.Fineness and Setting time and Minimum Compressive strength
¥ B. Minimum Compressive strength only
#< C. Setting time and Soundness value

#< D. Setting time only

Question ID : 97675534631
Status : Answered
Chosen Option: A

Q.14 For a circular solid shaft of radius r, subjected to a Torque, the shear stress on the shaft is
maximum :

Ans X A. Ata distance r/2 from the centre of shaft
25 B. At the centre of shaft
5 C. Either at the centre or surface of shaft, depends on the angle of Twist

«# D. At the surface of shaft

Question ID : 97675534739
Status : Answered
Chosen Option: A

Q.15 The observed N value from a standard penetration test conducted on a saturated sandy soil
stratum is 35. The corrected N value for dilatancy can be estimated as :

Ans  # A 25
X B.45
X C.20
#D.15

Question ID : 97675534692
Status : Answered
Chosen Option: A

—_—

Q.16 If the quadrantal bearing of a line is $25° 30’ E. its corresponding whole circle bearing value is :

At XA 115%30°

' 0 ]

<8 65°30

X 205°30"
0

D 154%30"

Question ID : 97675534656
Status : Answered
Chosen Option: D
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Q.17 The following observations were taken during reciprocal levelling to find the difference in
elevation between two points P and Q, located on either banks of a wide river. If the reduced
level of the point P is +60 m, determine the reduced level of the point Q ?

Instrumentat: | Staff readingatP Staff reading atQ
P 136m 1.96m
Q 1.52m 202m

Ans X A.+594m
X B.+60.5m
o C.+59.45m
25 D.+60.55m

Question ID : 97675534665

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q.18 The following Four statements (S1, S2, S3, S4) in connection with soil behaviour are given.
S1: Consolidation is a function of total stress
S2: Permeability of Coarse grained soil is inversely proportional to the specific surface at a
given porosity.
S3: For a fully saturated soil the pore pressure parameter is equal to zero.
S4 : Terzaghi's theory of consolidation considers only primary consolidation.
Which of the above statement(s) is /are incorrect ?

Ans X A.S2and S4
< B.S4only
" C.S1and S3
25 D.S2only

Question ID : 97675534691
Status : Answered
Chosen Option: A
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Q.19 Match the items in List 1(Property of Cement) with List 2 (Testing Apparatus) and select the
correct answer using the codes given in list.

List | List2
P. | Specific Gravity 1. | Blaine air permeability
apparafus

Q. |Setting time 2. | Le-Chatelier’s flask
Soundness 3. | Compressometer
S. | Fineness 4. | Autoclave
5. | Vicat's apparafus

Ans X A.P-3,Q-5R-1,S-2
o B.P2,Q-5R4,5 1
X C.P-4,Q-5R2,S-3
 D. P-5,Q-3, R-4, S-1

Question ID : 97675534634
Status : Answered
Chosen Option : B

Q.20 The predominant fluid property associated with cavitation phenomenon is :
Ans X A. Surface tension

5 B. Dynamic viscosity
#< C. Bulk modulus of elasticity

" D. Vapour pressure

Question ID : 97675534650
Status : Answered
Chosen Option: D

Q.21 The lateral strain due to axial loading a short cast iron circular column of 100 mm diameter
is 0.0004. Determine the change in diameter of column?

Ans o A 0.04mm
X B.4mm
X C.0.04Ttmm
£ D.0.2mm

Question ID : 97675534741
Status : Not Answered
Chosen Option : --



https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

Ans

M. Turfing of bunds of a canal

N. Wood work for door shutters

0. Bituminous road surfacing
P. Grouting of cracks or joints

X AN
X B.O
X C.M
& D.P

Q.22 In the estimation of quantities of the following works (given with codes M, N, O, P), identify
the work having a different unit of measurement with respect to others?

Question ID : 97675534642
Status : Not Answered

Chosen Option : --

Ans

Use codes for matching

List 1

List2

P. | Cyelic Pile load test

1

Modulus of subgrade reaction

Q. | Plate Bearing test

2

Relative density and strength

R. | Pressure meter test

3.

Skin friction and point bearing resistance

S. | Standard penetration test | 4. | Elastic constants

o A P3,Q1,R4,S2

# B.P-3,Q-2,R-1,54

K C.P-1,Q-3,R4,5-2
< D.P-2,Q-4,R3,51

Q.23 Match the items in List 1 (Name of field exploration) with those in List 2 (soil properties) and select the correct option.

Question ID : 97675534690
Status : Not Answered
Chosen Option : --

Ans

List 1 List 2
P. | Modulus of 1. | Volumetric strain
rigidiry
Q. | Poisson's ratio | 2. | Normal strain
R | Young's 3. | Transverse strain
modulus
S. |Bulk modulus | 4. |Shear sirain

X AP-4,Q-1,R25-3
X B.P-2,Q-1,R-3,S-4
X C.P-3Q-4R1,S-2
& D.P-4,Q-3,R-2,S-1

Q.24 Match the items under List 1 (Elastic properties of isotropic material) with those under List
2 ( Nature of strain produced) and select the answer using codes in lists.

Question ID : 97675534742
Status : Answered
Chosen Option: D
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Q.25 An open channel is in the form of a rectangular cross -section having a bottom width of 2 m.
If the hydraulic radius of flow is 0.5 m, determine the depth of flow in the channel.

Ans X A.025m

X B.2m

" C.1m
X D.0.5m

Question ID : 97675534653
Status : Not Answered
Chosen Option : --

Q.26 For a cement concrete pavement, the load, warping and frictional stresses on the slab are
240 N/mmz, 320 N/mm? and 10 N/mm? respectively. The critical combination of stresses
during summer (mid day) season is :

Ans . # A 550 N/mm?
2 B. 570 N/mm?
#< C. 560 N/mm?2
2 D. 320 N/mm?

Question ID : 97675534732
Status : Not Answered
Chosen Option : --

Q.27 Among the following chemicals, identify the one which is not used as a disinfectant ?

Ans X A. Potassium Permanganate
25 B. Bromine
#< C. lodine
w” D. Fluorine

Question ID : 97675534701
Status : Answered
Chosen Option: B

Q.28 In a total station survey work, the leveling of the total station and exact centering at a
station are respectively done by using :

Ans X A. Tripod legs and Optical plummet
" B. Tripod legs, Levelling Foot.screws and Optical plummet
< C. Optical plummet, tripod legs and circular bubble

25 D. Optical plummet and Automatic compensator

Question ID : 97675534669
Status : Answered
Chosen Option: D
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Q.29 Among the listed tests on bitumen binders, identify the test which cannot be used as a
measure of the consistency of bituminous binder?

Ans o A Flash and Fire point test
X B. Penetration test
< C. Furol viscosity test

#5 D. Softening point test

Question ID : 97675534636
Status : Answered
Chosen Option: B

Q.30 The permissible stresses under bending and direct compression for M20 concrete,
following the working stress method of design of concrete structures as recommended by

IS 456: 2000 are respectively (specify values in N/mm? units):
Ans X A. 8,55

X B.856
X C.54
& D.7,5

Question ID : 97675534758
Status : Answered
Chosen Option: D

Q.31 According to IS 14315 : 1995, the maximum thickness of commercial veneers produced
from wood is:

Ans  # A6 mm
X B.3mm
25 C.12mm
X D.8mm

Question ID : 97675534623
Status : Answered
Chosen Option: B

Q.32 The type of estimate to cover additional works necessary for the development of project
which was not considered in the original estimate, while work is in progress is :

Ans & A Supplementary estimate
25 B. Complete estimate
25 C. Revised estimate

25 D. Unit rate estimate

Question ID : 97675534647
Status : Answered
Chosen Option : A
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Q.33 According to CPWD (Central Public works Department, Govt. of India), under the category
earth work excavation by mechanical means, identify an equipment that do not come under
excavators?

Ans X A. Dipper showel
5 B. Skimmer
" C. Dumper
#< D. Clam shell

Question ID : 97675534641
Status : Answered
Chosen Option: D

Q.34 In a highway an ascending gradient of 1 in 55 meets another ascending gradient of 1 in 30,
determine the deviation angle ?

Ans

xa 2
85

X6 L
55

o C l_
66

X D i
330

Question ID : 97675534723
Status : Not Answered
Chosen Option : --

Q.35 The normal stress and shear stress on a failure plane in a drained test on a cohesion less soil are 100 kn/m? and 40

KN/m? respectively. If the angle of shearing resistance is @ then:

Ans X A tand=2/3

x B tan®d= 0.6
«c tan® =04
XD tand =25

Question ID : 97675534685
Status : Not Answered
Chosen Option : --
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Q.36 The surface joining the static water levels in several wells penetrating a confined aquifer
represents :

Ans X A. Water table surface
75 B. Cone of depression
75 C. Capillary fringe

«# D. Piezometric surface of aquifer

Question ID : 97675534679
Status : Not Answered
Chosen Option : --

Q.37 In arailway line, Identify the turnout that takes off towards the direction opposite to that of
the main line curve.

Ans X A. Turnout of Similar flexure
75 B. Double Turn out
75 C. Symmetrical Split Turnout

«# D. Turnout of contrary flexure

Question ID : 97675534719
Status : Answered
Chosen Option: A

Q.38 As a part of village development programme of Government of India in the year 2020, to
provide village connectivity with all weather road, is known as :

Ans X A.Village Road Development Plan (VRDP)
< B. National Highway Development Project (NHDP)
< C. Rural Road Development Plan (RRDP)
% D. Pradhan Mantri Gram Sadak Yojana (PMGSY)

Question ID : 97675534720
Status : Answered
Chosen Option: D

—_—

Q.39 A water sample contains 10~%% mole/litre of OH” ions at 25° C. The pH of this sample is:
Ans X A.8.6

o B.5.6

X cC.84

X D.54

Question ID : 97675534706
Status : Not Answered
Chosen Option : --
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Q.40 A pressure gauge at an elevation of +8.0 m fitted on the side of a tank containing liquid
reads 59 kN/m®. Another gauge fixed at an elevation of + 5 m reads a pressure of 80kN/mS.
Determine the mass density of liquid (in kg/m? units ) in the tank. (Take acceleration due to
gravity at the place as 10 m/sz)

Ans X A.1000
& B.700
X C.800
7 D. 900

Question ID : 97675534698
Status : Not Answered
Chosen Option : --

Q.41 A steel built up column is subjected to an axial force of 3000 kN. The lacing system has to
be designed for resisting a transverse shear of :

Ans  # A 75kN
X B.45kN
X C.30kN
2 D. 150 kN

Question ID : 97675534767
Status : Not Answered
Chosen Option : --

Q.42 The outcome of the spot speed studies carried out at a certain stretch of a highway are as
follows.
50th percentile speed = 46 km/h ; 75th percentile speed = 54 km/h ; 85th percentile speed =
60 km/h ; 95th percentile speed = 75 km/h ; 98th percentile speed = 84 km/h ; 100th
percentile speed = 95 km/h
What is the speed ( in km/h units) to be taken to check the geometric design elements.

Ans X A.95
o B.84
* C.75
* D.60

Question ID : 97675534725
Status : Answered
Chosen Option: B

Q.43 Degree of saturation of a soil mass is 80% . The air content of the soil mass is :
Ans 1
KA —
0.8
< B.038
K C 1.2

& D.02

Question ID : 97675534674
Status : Answered
Chosen Option: D



https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

Q.44 A trapezoidal plate with sides p and q parallel and horizontal (q > p) is held vertically under a
liquid surface with either the side p or g at the top. The total pressure is :

Ans X A.same irrespective of whether side p or q is at top
< B. Depends on the thickness of plate, and not on orientation of plate
#< C. higher when side q is at top
4" D. higher when side p is at top

Question ID : 97675534697
Status : Not Answered
Chosen Option : --

Q.45 Which of the following does not correspond to the recommendations of IRC: 37-2018, for
pavement thickness determination by California Bearing Ratio (CBR) method?

Ans X A. The top 50 cm of subgrade should be compacted minimum 97% of maximum Proctor
compaction test density .

" B. CBRtests are to be conducted in-situ in field
#< C. For the design of the subgrade soil sample should be compacted at Optimum
moisture content to proctor density.

#< D. At least 3 samples should be tested on each type of soil at the same density and
moisture content.

Question ID : 97675534734
Status : Answered
Chosen Option: A

Q.46 Arrange the Bogue compound compositions (C3A, C4AF, C3S, C2S) in Ordinary Portland
cement in the increasing order (least to the maximum) of their percentage composition :
(Symbols : C3A : Tricalcium aluminate; C4AF : Tetracalcium Alumino ferrite; C3S :
Tricalcium silicate; C2S : Dicalcium silicate )

Ans X A.C2S,C3S, C4AF, C3A
#5 B. C3A, C2S, C4AF, C3S
#5 C.C3S, C3A, C2S, C4AF
«” D. C4AF, C3A, C2S, C3S

Question ID : 97675534632
Status : Answered
Chosen Option : A

Q.47 Among the following methods listed for the evaluation of depreciation , identify the method
which is not used for the determination of depreciation of a multistoried building.

Ans X A.Sinking fund method
2% B. Straight line method
< C. Declining balance method

" D. Amortization method

Question ID : 97675534644
Status : Answered
Chosen Option: D
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Q.48 Among the following construction materials, identify the one having the minimum value of
density?

Ans o A Water
< B. Steel
< C. Brick
#< D. Ordinary Portland Cement

Question ID : 97675534630
Status : Answered
Chosen Option: A

Q.49 g8 fereu g4, Sit @af R & ag srfiereror &t 8, et afkmmor Puffa a8 far s awan
Ans X A s

#< B. dfgar (Intensity)

«# C. Udadr (Loudness)

X D.aE &R

Question ID : 97675534707
Status : Answered
Chosen Option: C

Q.50 In the design of highways, identify the factor which is not taken into account for the
computation of breaking distance ?

Ans & A Reaction time of driver

/5 B. Gradient

#< C. Speed
75 D. Co-efficient of friction

Question ID : 97675534722
Status : Answered
Chosen Option: A

—_—
Q.51 To raise the pH of potable water in a water treatment plant, an effective chemical used is :

Ans X A Alum
75 B. Calcium chloride
«” C.Lime
5 D. Polyphosphates

Question ID : 97675534770
Status : Answered
Chosen Option : A
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Q.52 The minimum stripping time of soffit formwork to slabs (props to be refixed immediately
after removal of form work) is:

Ans X A. 1610 24 hours
X B. 14 days
X C.7days

" D. 3 days

Question ID : 97675534753
Status : Answered
Chosen Option: C

Q.53 As per CPHEO (Central Public Health & Environmental Engineering Organization) guidelines,
the standard rate of filtration (in litre per minute/m? units) through a rapid sand filter is in
the range:

Ans X A 200 to 300
2 B.10t030
< C.30t050
& D. 8010100

Question ID : 97675534700
Status : Answered
Chosen Option: A

Q.54 A smart station used in surveying consists of :
Ans X A. Atotal with software to calculate the and display of quantities

25 B. Total station with an electromagnetic distance measuring equipment
«# C. Atotal station with an integrated GPS module

#< D. A Total station attached to a computer

Question ID : 97675534657
Status : Answered
Chosen Option : A

Q.55 In working stress method of reinforced cement concrete design, the stress strain
relationship of concrete and steel under working loads follows :

Ans  # A Straight line
#% B. Cubic parabola
#< C. Parabolic
25 D. Semi-circle

Question ID : 97675534760
Status : Marked For Review
Chosen Option: A
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Q.56 Among the assumptions listed, identify the valid assumptions for the application of

Ans

Bernoulli's equation in fluid flow analysis.

1. Flow is rotational.

2. Flow is irrotational.

3. Flow is incompressible.

4. Flow is steady

5. Flow is laminar/turbulent

6. Flow is continuous and velocity is uniform over a section.

Choose the answer using codes
o A.2,3,4,6o0nly

X B.1,3,4,5,6only
< C.1,3,4,50nly
< D.1,2,56o0nly

Question ID : 97675534696
Status : Answered
Chosen Option: A

Q.57 ldentify a secondary pollutant with respect to air pollution from the following:

Ans

< A. Particulate matter

«# B. Peroxy Acetyl Nitrate (PAN)
< C. Hydrocarbons

#< D. Nitrogen oxides

Question ID : 97675534712
Status : Answered
Chosen Option: A

Q.58 As per IS classification Coarse sand size particle are of diameter ranging from :

Ans

X A 475 mmto 20 mm

" B.2mmto4.75mm

#5 C.0.075 mmto 0.425 mm
25 D.2mmto 0.425 mm

Question ID : 97675534689
Status : Answered
Chosen Option : B

Q.59 The test performed to determine the compressive strength of hardened concrete in an

Ans

existing structure without causing any damage to the structure is :
25 A. Cone penetrometer test

5 B. Split test
" C. Rebound Hammer test

#< D. Bullet test

Question ID : 97675534751
Status : Answered
Chosen Option: C
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Q.60 A tacheometer was set up at a station P and observations were taken on a staff held at Q,
the vertical circle reading being zero. The readings corresponding to the three stadia hairs
are 1.9 m, 1.6 m, and 1.3 m respectively. The reading (middle cross-hair with vertical circle
reading zero) from P to staff held vertically at a Bench mark of elevation +100.0 m is 2.5 m.

The horizontal distance PQ and the elevation of point Q are respectively : ( Assume

multiplication constant as 100 and additive constant as zero for the tacheometer )
Ans X A.60m;101.3m

25 B.45m;100.6 m
" C.60m; 100.9 m
25 D.30m;101.6m

Question ID : 97675534673
Status : Not Answered
Chosen Option : --

Q.61 The ratio of young’s modulus of structural mild steel to that of high tensile structural steel is

about:
Ans o Al

X B.15
Xc.2
X D.05

Question ID : 97675534624
Status : Answered
Chosen Option: D

Q.62 Which of the following is not correctly matched ?
Ans & A Soundness test: Stripping value of aggregates

< B. Marshall method : Bituminous mix design
#< C. Penetration test : Hardness or softness of bitumen

#< D. Los Angeles Test : Hardness of aggregates

Question ID : 97675534728
Status : Answered
Chosen Option: A

Q.63 Consider the following statements S1 and S2 and choose the appropriate answer:
S1 : Noise pollution can be reduced by using double glass window panes.
S2 : The noise totally reflects back due to the two layers of glass.

Ans X A.Both S1and S2 are correct, but S2 is not the correct explanation of S1
&5 B.S1is True and S2 is False
" C.S1is False and S2 is True

#< D. Both S1 and S2 are correct, and S2 is the correct explanation of S1

Question ID : 97675534717
Status : Not Answered
Chosen Option : --
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Q.64 Among the chemicals given, identify the one which is not an ozone layer depleting
chemical?

Ans  «# A Copper sulphate
#< B. Hydrochloric acid
< C. Carbon tetrachloride
5 D. Methyl chloride

Question ID : 97675534703
Status : Not Answered
Chosen Option : --

Q.65 At highway stretches where the required overtaking sight distance cannot be provided, it is
necessary to incorporate in such sections of the following :

Ans X A. One third of the required overtaking sight distance
25 B. Three times the stopping sight distance
«# C. At least twice the stopping sight distance

#< D. Half of the required overtaking sight distance

Question ID : 97675534726
Status : Not Answered
Chosen Option: --

Q.66 Ty magnetic bearing of a line is 45° 15" . If the declination at the place is 3° 15’ E, the true bearing of the line is :

Ans

XA 38° 45"
V& 48° 30’
X c. 42°

XD 45°15"

Question ID : 97675534664
Status : Answered
Chosen Option: D

Q.67 External force driving the Open channel flow is :
Ans X A. Pressure force

#< B. Viscous force
«# C. Gravity Force

25 D. Surface tension force

Question ID : 97675534651
Status : Answered
Chosen Option : A
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Q.68 The void ratio for a soil deposit was determined at the loosest, densest, and natural states
as 0.8, 0.4, and 0.6 respectively. Determine the relative density of the soil deposit.

Ans X A 40%
X B.60%
2 C.75%
o D.50%

Question ID : 97675534680
Status : Answered
Chosen Option: D

Q.69 According to IS 303: 1989, the thickness of plywood boards ( in mm units) in a 3 ply board
is:

Ans X A.3,579
& B.3456
X C.4567
X D.2346

Question ID : 97675534627
Status : Answered
Chosen Option: A

Q.70 In conducting a standard consistency test of Ordinary Portland cement using Vicat
apparatus as per IS 4031-1988, what is the penetration depth of the needle from the top of
Vicat mould, for the paste to have normal consistency?

Ans X A.43t047 mm
25 B.23t0 27 mm
o C.331t035mm
< D.13t0 17 mm

Question ID : 97675534633
Status : Answered
Chosen Option: C

Q.71 The compressibility characteristic of soils, with equal plasticity index, with liquid limit
increasing :

Ans X A. Decreases and then remains constant
% B. Decreases
" C. Increases

25 D. Remains constant

Question ID : 97675534686
Status : Answered
Chosen Option: B
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Q.72 As per Central Pollution Control Board (CPCB) India, the permitted values of noise level in a
silence zone during the day time and night time are respectively :

Ans o A 50 dB(A) and 40 dB(A)
< B. 70 dB(A) and 60 dB(A)
7 C.65dB(A) and 55 dB(A)
2 D. 55 dB(A) and 50 dB(A)

Question ID : 97675534708
Status : Answered
Chosen Option: D

Q.73 Consider a horizontal section of a cylinder normal to side face. The normal stress acting
along the circumference of the cylinder is known as :

Ans X A. Proof stress
25 B. Longitudinal stress
5 C. Tangential stress
«# D. Hoop stress

Question ID : 97675534738
Status : Answered
Chosen Option: D

Q.74 The correct order of filter materials ( Sand, Anthracite Coal, Garnet) to be provided in a
multi-media gravity filter from Bottom to top is :

Ans & A Garnet, Sand, Anthracite Coal
& B. Sand, Anthracite Coal, Garnet
< C. Anthracite Coal, Garnet, Sand

25 D. Anthracite Coal, Sand, Garnet

Question ID : 97675534704
Status : Answered
Chosen Option: A

Q.75 The characteristics of contours are given in statements S1, S2 and S3.

S1: Two contour lines of different elevations can cross each other in the case of an

overhanging cliff.
S2 : Generally the contour lines donot cross a valley or a ridge line at right angle.
S3: A contour line passing through a point is at right angle to the line of maximum slope at

that point.
Identify the wrong statement(s).

Ans o A.S2only
< B.S3only
< C.S1only
# D.S1andS3

Question ID : 97675534671
Status : Answered
Chosen Option: B
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Q.76 For a constant value of co-efficient of lateral friction the value of required super elevation :
Ans X A. Decreases with Increase in speed and decrease in radius of curve

¥ B. Increases with Increase in speed and decrease in radius of curve
25 C. Increases with decrease in both speed and radius of curve

2 D. Increases with Increase in both speed and radius of curve

Question ID : 97675534736
Status : Not Answered
Chosen Option : --

Q.77 The saturated unit weight of a soil sample is estimated as 20.64 AN /m?. If the unit weight of water is 10 AN /m?

estimate the submerged unit weight of soil (in AN/m? units) ?
Ans X A 2064
« B.10.64
25 C.20.64
X D. 30.64

Question ID : 97675534684
Status : Answered
Chosen Option: B

_— = —_— = =
Q.78 The distance in the Y-direction to the centroid of a semicircular lamina of radius a with
respect to the diameter chord kept along the X-axis is :

Ans 30

KA —
im

« B.

Question ID : 97675534737
Status : Not Answered
Chosen Option : --
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Q.79 When movement of a wall under the earth pressure from a backfill of sandy soil was
prevented, the co-efficient of earth pressure was recorded as 0.5. The ratio of co-efficient
of active earth pressure to co-efficient of and passive earth pressure of the back fill is :

Ans 1

XA -
3
xB.9

&#C
9

A D.3

Question ID : 97675534693

Not Attempted and

Statusg Marked For Review

Chosen Option : --

Q.80 According to IS 800:2007, the recommended values of the following physical properties :
Unit mass (p), Modulus of Elasticity (E), and Poisson's ratio (p) of structural steel
(irrespective of the grade) for use in design, are to be taken as:

Ans @A p=7850 kg/m?:E=2x 105 MPa ;=03
XB p=9850kg/m?*:E=2x 10° MPa;u=0.4
X C p=785kg/m? . E=2000MPa: u=0.25
XD p=6850kg/m*® :E=2X 10* MPa:u=0.2

Question ID : 97675534766
Status : Answered

Chosen Option: A

Q.81 Consider the following statements with respect to centrifugal pumps : S1, S2, S3, and S4.
Choose the correct statement (s)

S1: Pumps in series operation allow the head to increase.
S2 : Pumps in series operation increase the flow rate.

S3 : Pumps in parallel operation increase the flow rate.

S4 : Pumps in parallel operation allow the head to increase.

Ans 4 A.S1and S3
#< B.S3and sS4
75 C.S1andS2
X D.S2and sS4

Question ID : 97675534652
Status : Not Answered

Chosen Option : --
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Q.82 The number of minerals arranged in the Moh's scale of hardness is:
Ans K A8

& B.10
X C.12
X D.15

Question ID : 97675534621
Status : Answered
Chosen Option : B

Q.83 The pore water pressure in the capillary zone of soil is :
Ans & A Negative

X B. zero
X C. positive

< D. Can be positive or negative

Question ID : 97675534675
Status : Answered
Chosen Option: D

Q.84 A clay layer 10 m thick in the field takes 400 days to attain 50% consolidation with the
condition of double drainage. If the same clay layer is underlain by a hard rock then the time
taken to attain 50% consolidation is :

Ans X A.100 days
#< B. 800 days
" C. 1600 days
< D. 200 days

Question ID : 97675534769
Status : Not Answered
Chosen Option : --

Q.85 In an experiment it is found that the bulk modulus of elasticity of a material is equal to its
shear modulus. The Poisson's ratio of the material is :

Ans X A 0375
X B.0.25
«” C.0.125

X D.05

Question ID : 97675534740
Status : Answered
Chosen Option: D
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Q.86 Methemoglobinemia found in infants is due to excessive presence of the following pollutant
in drinking water:

Ans o A Nitrates
25 B. Fluoride
< C. Chlorides
25 D. Sulphates

Question ID : 97675534702
Status : Answered
Chosen Option: A

Q.87 The following statements (S1, S2, S3) pertain to Plane table surveying. Identify the correct
statements.
S1 : The three point problem is a problem of resection.
S2 : The two point problem is not a problem of resection.
S3 : Two point problem is a problem of finding the line joining two points.

Ans  # A.S1only
#< B.STandS2
25 C.S2and S3
25 D.S2only

Question ID : 97675534666
Status : Answered
Chosen Option : A

Q.88 Estimate the quantity of first class arch work (in m3 units) for an opening of span 2 m
subtending 60° angle at centre and 20 cm thick to be provided in a 20 cm thick brick wall?

Ans X A. 0.0056m
* B.0.0071
& C.0.028m
25 D.0.28m

Question ID : 97675534649
Status : Not Answered
Chosen Option : --

Q.89 Among the Prohibitory signs used as Traffic signs, identify the one which having a different
shape with respect to the others.

Ans X A.Speed limit sign
" B. Give way sign
#< C. Horn Prohibited sign
25 D. One- Way sign

Question ID : 97675534729
Status : Answered
Chosen Option: D
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Q.90 The co-efficient of softening for clay material is:
Ans K A.1.0

" B. Zero
/£ C.06
& D.1.5

Question ID : 97675534622
Status : Not Answered
Chosen Option : --

Q.91 Two statements (S1 and S2) pertain to a soil mass are given.

S1 : A high value of dry unit weight indicates a more compact soil.

S2 : A soil is said to be pre-consolidated or over consolidated if the existing effective stress
is more than then the pre-consolidation stress

Give the inference about the validity of statements.

Ans & A Statement S1is True and S2 is False.
# B. Both statements S1 and S2 are False.
#< C. Statement S1 is False and S2 is True.

#< D. Both statements S1 and S2 are True.

Question ID : 97675534681
Status : Answered
Chosen Option: A

Q.92 As per IS 456 : 2000, in reinforced and plain concrete footings on soils, the thickness at the
edge, shall not be less than :

Ans X A 120 mm
" B. 150 mm
< C.250 mm
25 D. 300 mm

Question ID : 97675534759
Status : Answered
Chosen Option: B

Q.93 If L is the length to any point on the transition curve, and R is the radius of curvature, then
the fundamental requirement of the transition curve is given by the condition : ( Notation C -
an arbitrary constant)

Ans A ITR=C

x8 L _¢
R

xc L _¢
2R

L
KD —=C
R

Question ID : 97675534668
Status : Answered
Chosen Option: C
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Q.94 The defect in a painting work is indicated as "the loosening of certain portion of paint films
due to failure of bond or lack of adhesion with the under coats". The defect is known as:

Ans X A.Bloom
< B. Saponification

¥ C. Flaking
< D. Crawling

Question ID : 97675534626
Status : Answered
Chosen Option: C

Q.95 The methodology used for the design of Rigid highway pavements is :
Ans & A Elastic Plate theory

% B. Rigid Plate theory
# C. Infinite layer theory

< D. Grain to Grain Transfer of load in a layered system

Question ID : 97675534733
Status : Answered
Chosen Option: B

Q.96 In connection with inspection and testing of concrete structures as per IS 456:2000, while
conducting load tests on flexural members, what is the load (L) and minimum duration of
load application(T) on the structure ? (Use notations as : DL : dead Load, IL : Imposed load)

Ans X A L=DL+IL;T=48hours
X B.L=DL+2xIL;T=7days
«” C.L=DL+1.25xIL;T =24 hours
K D.L=DL+1.5%IL;T=72hours

Question ID : 97675534755
Status : Not Answered
Chosen Option : --

Q.97 A soil sample is subjected to laboratory sieve analysis using a complete set of standard IS
sieves. Out of 3 kg of soil used in the test, 1200 gram was retained on IS 600 micron sieve,
1500 gram was retained on IS 500 micron sieve and the remaining 300 gram was retained
on IS 425 micron sieve. The uniformity co-efficient for the soil is :

Ans X A.0.71

& B.12

X C.1.41
X D.0.83

Question ID : 97675534688
Status : Answered
Chosen Option: C
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Q.98 Consider the following statements in connection with daily per capita demand value of

Ans

water supply.

S1 : Per capita demand for big cities is generally small when compared to that for small
towns.

S2 : Industrial and commercial activities of a city increases the per capita demand of water.
S3 : Fixed monthly rate policy of water use charging has more per capita demand when
compared to charging based on actual meter reading.

Identify the correct statement (s).

25X A.S1andS2only
25 B.S2only
2 C.S3only
# D.S2 and S3 only

Question ID : 97675534710
Status : Answered
Chosen Option: D

Q.99 Flexible pavements derive stability mainly from:

Ans

«" A. Aggregate interlock, particle friction, and cohesion
5 B. Flexural strength of surface course
5 C. Beam and slab action of the surface course

#< D. Binding power of flexible materials

Question ID : 97675534727
Status : Answered
Chosen Option: B

Q.100 In plate girders, the purpose of providing intermediate transverse web stiffeners is :

Ans

#< A. Prevent local crushing of web due to concentrated loading
«” B. Improve the Bucklingstrength of slender web due to shear.
2 C. Prevent local buckling of slender web due to concentrated loading

#< D. Transmit tensile forces applied to a web through a flange.

Question ID : 97675534765
Status : Answered
Chosen Option : B

Q.101 Find the steepest gradient on a 2° curve for a BG railway line track with a ruling gradient of 1

Ans

in 200.
X A 1in172

X B.1in150
X C.1in278
& D.1in238

Question ID : 97675534724
Status : Not Answered
Chosen Option : --
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Q.102 IR UehR Y acd RNl gar M eI P, Q, ReR S A R R e disaddmadigr IS
1077 : 1992 & IFHAR, T awd Rep- 7a1 Y IR $ & A ATSYeR ThR Fi Soft §
3relt g1 (et &t aft famrd mm gt A 8)
P:230x110x70;Q:230x110x30; R:190x 100 x 90; S: 190 x 90 x 90

Ans X AR
& B.S
X c.Q
X D.P

Question ID : 97675534625
Status : Answered
Chosen Option : B

Q.103 Among the following flow measuring equipments, identify the equipment which cannot be
used for measuring the discharge through pipes.

Ans X A. Pitot tube and cross section area of pipe
# B. Venturimeter
#< C. Orifice meter
" D. Triangular notch

Question ID : 97675534695
Status : Answered
Chosen Option: A

Q.104 Determine the quantity of bleaching powder required for a rural water supply scheme so as
to chlorinate 20000 litre of water, whose chorine demand is 2 mg/l. Assume the bleaching
powder has 40% available chlorine.

Ans X A 40 gram
" B. 100 gram
#5 C.16 gram
#< D. 200 gram

Question ID : 97675534716
Status : Not Answered
Chosen Option : --

Q.105 In concrete mix design of M40 grade concrete, assuming the standard deviation value of
characteristic strength of concrete as in IS 456:2000, the target mean strength of concrete

mix (in N/mm? units) is expectedis :
Ans X A 46.25

o B.48.25
X C.475

< D. 50

Question ID : 97675534754
Status : Not Answered
Chosen Option : --
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Q.106 The bending moment diagram of a simply supported beam AC is shown in figure. The load
acting on the beam is :

A uL/’c

Ans & A. A couple load applied at the point B
#< B. A uniformly distributed load over the whole length of beam AC
< C. Equal and Opposite moments applied at A and C
< D. A concentrated load at the point B

Question ID : 97675534743
Status : Answered
Chosen Option: D

Q.107 Determine the length dimension of a rectangular sedimentation tank to treat a flow of 4
Million litre/day to provide a . detention time = 3 hours. Mean Flow velocity is not to exceed
2 mm/s.

Ans X A.18.4m
X B.14.4m
& C.21.6m
X D.19.6m

Question ID : 97675534714
Status : Not Answered
Chosen Option : --

Q.108 In industrial buildings, the permissible maximum vertical deflection (under serviceability)
for purlins /Girts of length 3.6 m, supporting elastic cladding, for design load(live load/wind
load), as per IS 800:2007 is :

Ans X A.15mm
#< B.30mm
" C.24 mm
& D.20 mm

Question ID : 97675534768
Status : Answered
Chosen Option: B

Q.109 From the different types of soils given, identify the soil having low values of specific gravity
(may fall below 2)?

Ans  # A. Organic soll
5 B. Inorganic clay
2 C. Clean sand and gravel
< D. Soil high in mica and iron

Question ID : 97675534682
Status : Not Answered
Chosen Option : --
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Q.110 Determine the radius of a simple circular curve (in m units) if it is designated as a 3 degree
curve on a 30 m arc.

Ans

X A 5400
L

X B. 1080
T

v 1800
g

X D. @
T

Question ID : 97675534667
Status : Not Answered
Chosen Option : --

Q.111 Additional tensile force developed in a bolt as a result of the flexing of a connection
component such as a beam end plate or leg of an angle is known as :

Ans X A.Normal force
¥ B. Prying force
25 C. Racking force
25 D. Bearing force

Question ID : 97675534764
Status : Answered
Chosen Option: C

Q.112 The ratio of weight of aggregate passing through the slot of the thickness gauge to the total
weight of sample and expressed in percentage is known as:

Ans X A. Toughness index

< B. Elongation Index
X C. Plasticity index
" D. Flakiness index

Question ID : 97675534635
Status : Answered
Chosen Option: D

Q.113 Among the gases given, identify the one that donot belong to the category of Green House
gases:

Ans o A. Carbon monoxide
< B. Methane
#< C. Chlorofluorocarbons
< D. Nitrous Oxide

Question ID : 97675534713
Status : Answered
Chosen Option: D



https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

Q.114 The minimum width of carriage way recommended by IRC for kerbed urban road, so as to
give allowance for stalled vehicle is :

Ans X A.35m
X B.7m
7 C.3.75m
& D.55m

Question ID : 97675534718
Status : Answered
Chosen Option: C

Q.115 While doing earthwork, mounds of earth left undisturbed in pits dug out for borrowing earth
is known as :

Ans  # A Deadmen

25 B. Joggle
25 C. Burjis
25 D. Jamb

Question ID : 97675534640
Status : Answered
Chosen Option: A

Q.116 As per IS 456: 2000, determine the minimum eccentricity of the axial load, for an axially
loaded column of size 300 mm X 300 mm, having an effective length of 3.5 m ?

Ans X A .25mm
" B.20 mm
< C.17mm
25 D.10mm

Question ID : 97675534762
Status : Not Answered
Chosen Option : --

Q.117 A sample of water when tested for hardness, gave total hardness value of 450 mg/I, and
alkalinity value of 150 mg/I (on CaCO3 scale) respectively. The carbonate and non-
carbonate hardness of the sample (in mg/l units) are respectively :

Ans X A 150;450
< B.600; 450
& C.150;300
2< D.600; 300

Question ID : 97675534709
Status : Not Answered
Chosen Option : --
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Q.118 The relationship between the length | and radius r of an ideal transition curve is stated as:

Ans
XAlar

xslar?
1
ve la=
r
XD [ai
7

Question ID : 97675534655
Status : Not Answered
Chosen Option : --

Q.19 According to IS 456 :2000, the design bond stress (in N/mm? units) in limit state method for HYSD bars (Fe415
grade) for M30 grade concrete is :

Ans o A 24
X B.15
< C.2.56

X D.1.92

Question ID : 97675534761
Status : Answered
Chosen Option: D

Q.120 What is the maximum permissible length of Tractor and Trailer combination of vehicle
permitted in Highway roads of India as per IRC ?

Ans X A.10m
KX B.16m
" C.18m
X D.20m

Question ID : 97675534721
Status : Answered
Chosen Option: C

Q.121 The back bearing of a line is N 20° E. The corresponding fore bearing of the line is :
Ans  # A.S20°W
2 B.N20°E
2 C.N70°E
X D.S70°W

Question ID : 97675534658
Status : Answered
Chosen Option: A
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Q.122 As suggested by IS 456 : 2000, the minimum grade of concrete, and the corresponding
cement content(in kg/m3 units), maximum water cement ratio, for Extreme exposure
conditions, in reinforced concrete work with 20 mm nominal size aggregates are
respectively :

Ans X A.M45,330,0.45
2 B.M40,300,0.5
& C.M40;360,0.4
2 D. M50,360, 0.5

Question ID : 97675534757
Status : Answered
Chosen Option : B

Q.123 Comment on the following statements (S1, S2) as True/False:

S1 :Obsolescence is the loss in the value of the property due of change of design, fashion,
change of utility in demand.
S2 : More the age of a building, less the amount for depreciation.

Ans X A.Both ST and S2 are True
#< B. Statement ST is False and statement S2 is True.
25 C. Both statements S1 and S2 are False

«# D. Statement S1 is True and statement S2 is False

Question ID : 97675534645
Status : Answered
Chosen Option : D

Q.124 A residential building fetches a monthly gross rent of Rs. 6000 . The annual outgoings in
the form of taxes and other contingencies is Rs. 12,000 . The cost of land comes to Rs.
2,00,000 . Estimate the total value of property on a yearly basis. Assume the rate of interest
as 6% per annum.

Ans X A.Rs.14,00,000
#< B.Rs.10,00,000
" C.Rs.12,00,000
25 D.Rs.2,60,000

Question ID : 97675534643
Status : Not Answered
Chosen Option : --

Q.125 Two pipe systems connected in series are said to be equivalent under the condition:
Ans & A The discharge underthe same head is same in both systems,

X B. The average friction factor in both systems is the same
#< C. Total length of the pipe is the same in both the systems

#< D. The average diameter in both systems is the same.

Question ID : 97675534654
Status : Answered
Chosen Option: A
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Q.126 The unit weight of reinforced concrete (in kN/m? units) made with sand and crushed natural
stone aggregate is :

Ans X A .26
X B.24
X cC.28
& D.25

Question ID : 97675534748
Status : Answered
Chosen Option: D

Q.127 The scale of a map is represented as 1: 100000. The distance between two points A and B
is measured as 10 cm in the map. The actual distance between the two points in the field is
Ans  # A 10km
2< B.100 km
£ C.100m
2 D.1km

Question ID : 97675534661
Status : Answered
Chosen Option: A

_— _ = =
Q.128 At the plastic limit, the soil is friable (easily crushed), the toughness index of the soil is :
Ans X A.Range?2to3

75 B.Between 1 and 2
+# C.Lessthan1
#< D.Equalto 1

Question ID : 97675534683
Status : Answered
Chosen Option: C

e
Q.129 In a total station, the range of reflectorless measurements depends on:

Ans X A. Scattering property of target
< B. Surface roughness of target
#< C. Conductivity of target
" D. Reflectivity of target

Question ID : 97675534659
Status : Answered
Chosen Option: D
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Q.130 The thin surface treatment used to water proof the surface and provide skid resistance in
flexible pavements is :

Ans X A.Prime Coat
< B. Base Coat
4 C. Seal Coat
#< D. Tack Coat

Question ID : 97675534731
Status : Answered
Chosen Option: A

Q.131 In a levelling work the following readings were taken with a dumpy level as 2.05, 0.525,
1.875, 1.21, 3.245, 1.94, 0.975, 2.875 (in m units). If the instrument was shifted after the
second and fifth readings, the readings recorded in the foresight columnis :

Ans o A 0.525,3.245,2.875
X B.0.525,1.94,2.875
2 C.2.05,1.875,1.94
X D.1.875,1.94,2.875

Question ID : 97675534672
Status : Answered
Chosen Option : A

Q.132 The permissible limit values of sulphates (in mg/l units) in water used for concrete work is :
Ans X A.2000

& B. 400
2 C. 500
2 D.250

Question ID : 97675534750
Status : Answered
Chosen Option: B

Q.133 A trapezoidal canal with a side slope 2 : 1 (horizontal : vertical) is to be formed in cutting for
conveying water to a field. The dimensions of the canal are as follows : Bottom width of
canal = 2 m; Depth of canal = 1 m. Work out the cost of lining the canal (in Rs.) using
Geotextile material per km length. Assume the rate of lining canal with Geotextile material
as Rs. 100 per Sq.m:

Ans X A. 400000

X B. 200000(1 + /3
2< C. 250000

« 0. 200000( 1 + V/5)

Question ID : 97675534648
Status : Not Answered
Chosen Option : --
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Q.134 The plasticity index value for a coarse grained soil can be expected as:
Ans XK A 4to7

" B. Zero
K C.7t010
/< D.10t0 17

Question ID : 97675534676
Status : Answered
Chosen Option : B

Q.135 The minimum number of cores to be taken for core test, in connection with inspection and
safety of concrete structures is :

Ans A3
X B.2
X cC.5
X D.4

Question ID : 97675534749
Status : Answered
Chosen Option: A

_— —— =
Q.136 When moisture content of sludge is reduced from 95% to 90%, its volume is :
Ans X A.Reduced by 5%

25 B. Reduced by 25%
«" C. Reduced by 50%
< D. Reduced by 10%

Question ID : 97675534705
Status : Not Answered
Chosen Option : --

Q.137 The ability of concrete to remain a stable, homogeneous, coherent mass without
segregation both during handling and during vibrations is termed as :

Ans X A. Flexibility
2 B. Mobility

#< C. Consistency
" D. Stability

Question ID : 97675534752
Status : Answered
Chosen Option: C



https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

Q.138 The unit of measurement of stone work in wall facing or lining (with thickness specified) is :
Ans X A. Either in Square metre or Cubic metre

#< B. Running metre
25 C. Cubic metre
«# D. Square metre

Question ID : 97675534639
Status : Answered
Chosen Option: D

Q.139 Which of the following does not come under Atterberg limits used to indicate the
consistency of clays ?

Ans & A Liquefaction limit
# B. Plastic limit
#< C. Shrinkage limit
#< D. Liquid limit

Question ID : 97675534677
Status : Answered
Chosen Option: A

Q.140 Qe HIYRUT JHTHR ek AT et & oI o & FAgiEiense fAfY (Two theodolite method)
& e o1 Rgid T 2?
Ans o A TR o foig TR TURET $TR e foig IR Sfia & sid AT ehivT, 34 ehI0T oh SRTeR BT 5, [oidds
Sftar Wi & feig i faudia @< 7 sfaRd i gl
X B. aeh o foneft oft fiig wR faretoor ahtor, ash o feig TR oy wusReam sfi gz & foig @ 39 foig e Sftar
& T ST HIUT AT B
25 C. g o feig w @R oik e foig or Sfiar o &= &t ehlul, I8 ehiUT o &1 o aRTeR &1 &, it
g Sftar TR & foig R faudia @< | siaRd w=edt 81
< D. foreht oft Sfiar & forg fagtoor shtor, freseft Sitar & fagtoor ot sk 3@ SitaT & Wk sl &
N & SRIER BT 8

Question ID : 97675534670
Status : Answered
Chosen Option: D

Q.141 A simply supported prismatic beam of span 1 m carries a load of 1 N at the centre of span.
The slope at the left end in terms of El is : ( Notation : E - modulus of elasticity of beam, I -
Moment of Inertia of beam section)

Ans 1
KA —
4 EI

X B.

xc o
32EI

D —
16 EI

Question ID : 97675534744
Status : Answered
Chosen Option: D
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Q.142 A homogeneous simply supported prismatic beam of width B, depth D and span L is
subjected to a concentrated load of magnitude 100 kN. The load can be placed anywhere
along the span of beam. The maximum flexural stress developed in the beam is :

Ans
X A BOOJ}
BD=
150LC
B.——=
BIx
75L

X c .
BI¥

25L
2BD*

< D.

Question ID : 97675534747
Status : Not Answered
Chosen Option : --

Q.143 Identify the defect in timber which is not caused by seasoning of timber:
Ans X A. Checks

< B. Splitting
#< C. Warpage
" D. Knots

Question ID : 97675534628
Status : Answered
Chosen Option: D

Q.144 What is the total centre line length of the plan shown in Figure ? The thickness of all walls
are to be taken as 30 cm.

Room2
4x6m 5 Ixtm

(w il §

Room |

— -~ R —

D
Ans X A.32.65m
X B.32.9m

X C.32m
& D.341m

Question ID : 97675534646
Status : Answered
Chosen Option: C
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Q.145 Under limit state of collapse condition, the design of a singly reinforced balanced beam section for a span of 4 m was
carried out using two type of steel : case A :Mild steel : Case B : HYSD steel- Fe415 grade. The inference about the

limiting values of the depth of nsutral axis Xy, y,q. 0 the two cases is :

Ans : .
« A Xy maxin Case A > Xy, max in Case B

X B. Xy,max in Case A < Xu,max in Case B

X C.
Xu,max in Case A can be greater or smaller or equal to Xy, ;nqx in Case B.

X D. Xy, maxin Case A =Xy max in Case B

Question ID : 97675534763
Status : Answered
Chosen Option: B

Q.146 For estimating the flow in sanitary sewers in high ground water table locations, an
allowance for ground water infiltration into sewer is to be made. According to the guidelines
of CPHEEO, Govt. of India, the design infiltration value shall be limited to :

Ans X A.20% of the design value of sewage flow
#< B. 50% of the design value of sewage flow
X C. 5% of the design value of sewage flow

¥ D. 10% of the design value of sewage flow

Question ID : 97675534711
Status : Not Answered
Chosen Option : --

Q.147 The plume that occurs under strong wind velocity, when the lapse rate is near adiabatic
condition (neutral), and the plume touches the ground at greater horizontal distance is :

Ans X A. Lofting plume
«” B. Coning plume
< C. Fanning plume
< D. Looping plume

Question ID : 97675534715
Status : Not Answered
Chosen Option : --

Q.148 Identify the Incorrect matching with respect to size, shape and grading of aggregates, on
properties of concrete.

Ans X A.Size of aggregate : affect strength of concrete
¥ B. Shape of aggregate : affect durability of concrete
25 C. Shape of aggregate : affect workability of concrete

X D. Grading of aggregate : affect strength of concrete

Question ID : 97675534638
Status : Answered
Chosen Option : A
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Q.149 The specific weight of a liquid having a volume of 6 m® and weight 42 kN is :

XA 7m3/kN

Ans
¢85 7 kN/m3

1
xec FmE/kN

1
X0 —kN/m?

Question ID : 97675534694
Status : Answered
Chosen Option: C

Q.150 The applicability of middle third rule used in the design of structures under combined direct
and bending stresses is :

Ans X A. Feasible to circular cross sections only
75 B. Feasible to square and circular cross sections only
«# C. Feasible to rectangular cross-sections only

75 D. Feasible to all cross sections

Question ID : 97675534746
Status : Not Answered
Chosen Option : --

Section : General Knowledge and Awareness

Q.1 Which of the following is a stringed musical instrument made of wood, steel and horsehair?
Ans o A Jantar
< B.Pava

& C. Zanj
< D. Manijira

Question ID : 97675534772
Status : Not Answered
Chosen Option : --

Q.2 = ifear s &t 1765 d o= &t Etar frgen frar mam am
Ans X A BR

o B. I

X C. gxEe

25 D. marferR

Question ID : 97675534780
Status : Answered
Chosen Option: B
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Q.3 The Indian National Army (INA) tried to invade India through Imphal and Kohima in the year

Ans X A 1943
7 B.1945
7< C. 1946
o D.1944

Question ID : 97675534782
Status : Answered
Chosen Option: A

Q.4 The planet Mercury takes about Earth days to complete one orbit around the Sun.

Ans X A. 365
# B.255
" C.88
< D.687

Question ID : 97675534776

Status : Not Answered

Chosen Option : --
Q.5 Teh YR & eraarileas @l & [aw ver & w9, S 913, IS STiel 81 59 UhR Y

Qeft 7 srcafres s 3R gt it smasaerar gt 81
Ans X A fafSE &t

X B. @fler @t
o C. ST Wt
X D. WA iy

Question ID : 97675534778
Status : Answered
Chosen Option: C

Q.6 ‘IRt o Sifths 1 20 g eramd Sfiaa aret &t wg=r fAastarsi & @ ga 21
Ans X A. 3fdsdagH

X B. oRfe e

X C. frfeeamt dereet

o D. U ARt

Question ID : 97675534790
Status : Answered
Chosen Option: C
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Q.7 F=fof@a d 9§ & &1 o oA deafda Tsa F A ad gw A &2
Ans o A YRGS - AT

75 B. Tt - enfaem

X C. gt - sram

7< D. YUk - Srigmeer

Question ID : 97675534771
Status : Answered
Chosen Option: A

Q.8 fRawrR 1946 #, WRd Tfdur g & uuw ifddr= d fraw gewt 3 v
Ans A 207
X B.216
X c.198
X D.184

Question ID : 97675534787
Status : Answered
Chosen Option : B

Q.9 Fmfaf@a # @ &= ot 7 sgrya 7Y &=t a1 umT g 82
Ans o A @i

X B.7ifed

X C. &

7 D. Ae

Question ID : 97675534779
Status : Answered
Chosen Option: A

Q.10 F=fafEa & § WRa & iU &1 FI A1 % AT & ASTUTA T GHIEH, T iR 5
fafre feafaat & wod fAefaa A, 71w A a1 SgeRvor et i 21k veT e 82

Ans o A SIS 161
/< B. argeg 102
< C. e 123
< D. o=¢ 112

Question ID : 97675534786
Status : Answered
Chosen Option : A
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Q.11 FafafEa d @ w1 Ry aré gvaar & wl/aRE Y fRagtear 78 «f?
Ans o A fE) ofR qona & e Ues HfSiel AR

< B. Ua fohetreie e s i e fa §

< C. Uch TR I THHIVT TR Rl arelt el Tgh

< D. ¥e ArfT & a1 gerkh a8

Question ID : 97675534781
Status : Answered
Chosen Option: D

Q.12 f=fafRadd F TTFATITT8?

Ans X A. g WR S o, Hifcren gRkRad= 1 U IggRoT 81
#< B. o5l geref o1 ST, ifae gfkade o1 g SegiRoT &1
X C. TR 3 o1 f&=m1, v aRad= &1 ges Iggror 8|
o D. 731 | ura fonan, Tumafen uRadH T Teh IGER0T &

Question ID : 97675534777
Status : Answered
Chosen Option : D

Q.13 Which of the following is an institute devoted to the preservation and promotion of Indian
literature?

Ans X A.Sangeet Natak Akademi

«” B. Sahitya Akademi
2 C. National School of Drama
75 D. Lalit Kala Akademi

Question ID : 97675534783
Status : Answered
Chosen Option: D

—_—
Q.14 Which of the following books is NOT authored by Anupam Kher?

Ans X A.Your Best Day Is Today!

< B. Lessons Life Taught Me, Unknowingly: An Autobiography
25 C. The Best Thing About You Is You!

4" D. And Then One Day: A Mémoir

Question ID : 97675534785
Status : Answered
Chosen Option: B
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Q.15 The death anniversary of is observed as ‘Mahaparinirvan Din’ in India.

Ans X A.Mangal Pandey
75 B. Vallabhbhai Patel
#< C. Bhagat Singh
«# D. Bhimrao Ambedkar

Question ID : 97675534784
Status : Answered
Chosen Option: D

Q.16 f=fafEa d @ ufearen & e FYa e A9 @ @?
Ans o A FEIGTTG I el

X B. sifSioadarr frem

#< C. iignTg a1 fohelt

#< D. faamqR a1 foe

Question ID : 97675534773
Status : Answered
Chosen Option: A

Q.17 &t 2021 #, ¥Rda Rerd de 3 vaft goit =1 g7, ofik sifSfa @A &t Swma=md 7 g1 & Fror
T A9 fAwe e )

Ans X A. AT 98K deh oS
X B. 310 Ggahr d fafaee
o C. [em Ggadl das feifids
75 D. AdlIE Ugahr a4k fofaes

Question ID : 97675534775
Status : Answered
Chosen Option : A

—_——— =
Q.18 R, TorTE, # e Tfi-fiepa fohdhe RfEaw o1 wa$t 2021 &, IgTe g a, fasy et
et a2t fohche wfeaw umi
Ans X A SsTTed
X B. ufeds sitlgat

o C. AcTa fthdhe TS
X D. T thics geea Rieaq

Question ID : 97675534788
Status : Answered
Chosen Option: C
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Q.19 Ffmaeie 2021 F R, a9 & 31fde 3mg & aRks amiRes fS=h s &1 sia dhaer

Ans

R 3R T &, i e et a1 e @ ge & st

X A 60
< B.80
X C.65
& D.75

Question ID : 97675534774
Status : Answered
Chosen Option : A

Q.20 WRaH 2021 #, Ugera 3 XXIV SIS geheT Seek Us shlw ARiRTe gafde &

Ans

wfgear 53-fretum af & woof uges Sfiam
25 A ar wire
< B.Rgwrme
o C. oAy whmme
X D. gftar wime

Question ID : 97675534789
Status : Answered
Chosen Option: C

Section : Reasoning

Q.1 Qg &y 3k sl &t ear= & a1 a8 A gT foh & | & 1 st i a dwa g,
e g Ug I FU | 71 a4t 9 e g, ug Hofa | 6 Ry 7w s & @ @9 ar/a= @

Ans

fRrsepf e T SITERT AT &/

HY:
aft HRFai As1 &)

S Ul HiRTi g1
goft geitr weffeR &1

frepef:
. gfige AST &
I1.FS A5 TR &
. s FiFar wHR &
V. o FHRai aei g1
o A Fae st |1, 111 $R 1V IR0l dd B

X B. 3had et | SR Il SIgEROI = 8|
X C.had Amy |, 11 3T IV SrgeRur ahvd &1
25 D. Shaet fasee |, 11, 111 3R IV S1geRoT e &

Question ID : 97675534799
Status : Answered
Chosen Option: D
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Q.2 U uTs i gt srerT-arert fRAfaat el wd €1 g 91aR & fAvdia et WR -1 91ER SeTIT?

Question ID : 97675534809
Status : Answered
Chosen Option : D

Q.3 39 e o1 7o R ot fieR S1eR-avE & S avg & Hafdd & 9 gERT s1aR-9Hg ued S1ar-
g @ Hafda 81

SXK:PTF::JTR:?
Ans o A.GPM
< B. HQN
 C.FoL
7 D. GQN

Question ID : 97675534796
Status : Answered
Chosen Option : A

Q.4 The cube shown in the figure is painted yellow on all sides. If it is cut into 1000 small
uniform cubes, then what is the number of cubes having at least two painted faces?

Ans

Question ID : 97675534810
Status : Not Answered

Chosen Option : --
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Q.5 The image given here is the water image of which of the following option figures?

—
p—
:’-:
YVVYY

Ans

=
XA ﬁ-p
i

yvvyy

Question ID : 97675534807
Status : Answered
l Chosen Option: C
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Q.6 I fahed o1 aT R Sl A T @ I uaR HEfda @ e vaeR gm
T et HeeT & Hefdd g1
36:220::49:?
Ans X A. 400
X B.256
7< C.298
o D.347

Question ID : 97675534804
Status : Not Answered
Chosen Option : --

Q.7 Refiud 5 4R, 3 amws ok 2 A & farg 145 Tarrgl af 1 TR, 1 g ok 1 Frft & gea
T IIUIA 2: 3: 58, @l 1 TR, 2 317%g 3R 1 Rft & gea a1 o a1 82

Ans X A 52
& B.65
X c.72
2 D.48

Question ID : 97675534803
Status : Answered
Chosen Option : B

Q.8 F=faf@d ar srer wgl 7 @ 7 srar-wg iR a8F A Uah-gR @ Hdfda & ok gah srerT
81 foruw s1eR-uwg o1 T R

Ans X A PLS-QNV
< B.GPQ - HRT
% C.LBC - MDF
o D.SHJ - TUH

Question ID : 97675534794
Status : Answered
Chosen Option: D
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Q.9 Ry g a7 s & Aartor 2ed AR o1 ufaffe awvar &, g= aywg are @ ofk emaa
afts ariRert &1 ufafAfie wear 81 s @1 sreaae FRa gQ wet &1 I &1

[ Senior citizens )
AR mead

I afts arTient i dwear fra-it @ =8 Ayde 781 82
Ans X A7
X B.5
o C.31
< D.26

Question ID : 97675534806
Status : Answered
Chosen Option: C

Q.10 fF=fafEa siae 7 @ wiF- e us Rig (?) & Tur R engft?
1701, 567, 189, 63, ?
Ans o AL 21
X B.29
& C.19
X D.13

Question ID : 97675534800
Status : Answered
Chosen Option: A

Q.11 af s wforfa vomelt § '@ &1 312f 7oT &, '$' a1 31ef HTT 3T, '&' a1 oref e SR '# T
31 st gt ok Aw T+t wisger nftrefta orreft & ww g, At afieur 104 $ 8 #58 7 @ 2 &
T T ghm?

Ans o A4
& B.8
& C.10
K D.6

Question ID : 97675534802
Status : Answered
Chosen Option: A
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Q.12 Tfe Sferex ! fAeTe hgT SIY, fAeTeh ) STHRAT gl SITY, TR &l TIThaR gl SITY, MhER &l
IR gt SIY 3R R R &t sefaera= @gr oig, ot Rd-usf ofir urfe wi= arem?

Ans X A et
X B. sifpan
X C. Rar
o D. TThER

Question ID : 97675534797
Status : Answered
Chosen Option: D

Q.13 39 e o1 T &, STt iR 21eg @ St vhR @ Hefda &, 99 v & quer e uget
oreg, & Hafdd g1

O ; grehy:: . mdi=ie: 2
Ans X A. forahe

o B. defica

X C. 5w e

X D. @A

Question ID : 97675534795
Status : Answered
Chosen Option : B

Q.14 F=faf@a srert A siwer & = R 7¢ Rast J§ @ Fi9-a1 e weemas Rig (2) & o=
TR AT

LOK, NMI, PKG, RIE, ?
Ans X A.UHC
& B.TGC
2 C.SGD
& D.SHC

Question ID : 97675534791
Status : Answered
Chosen Option: B
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Q.15 How many triangles are there in the given figure?

Ans o A2
X B. 11
X C14
X D.13

Question ID : 97675534808
Status : Answered
Chosen Option: A

Q.16 ¥ IR 2rez-gr Ry g &, 37 & ofi7 suw & TwE € R U orem @1 fAvw 2res-gim o wa
]|

Ans o A T ThE
25 B. 3Tap1ar : e
X Coug:gd
7< D. T ; ShrelT

Question ID : 97675534793
Status : Answered
Chosen Option : A

_=

Q.17 F=faf@a aHfiewror w9 s9F & Ag 353 for 3t dwenei &t ga-gaR | age-r ghm?

7x34-48+24+3=246
Ans o A 33R24

X B.73RR3
X C.48 3R 24
X D.73R24

Question ID : 97675534801
Status : Answered
Chosen Option: A
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Q.18 Y &1 Agam=! & uR=a sheard gu faem dtell, ‘4 IR TR & goheiia e M A& 31°
T 1 AT @ o Tey @2

Ans X' A Sh/ars/gan/Hied/ geht/Amt
< B. =
K C.uga

« D. T

Question ID : 97675534798
Status : Answered
Chosen Option: D

Q.19 fA=faf@a e & s deer o1 gai<w AU A a9 a9 31RE oAl T i1
TIEdTR, SITET, ATgshiaTue SAifthd, 99 g9

ns L .O
-2
O

fole

Question ID : 97675534805
Status : Answered
Chosen Option: A

Q.20 f=foifEe 2real it Sitslt & rsgehlan & HHAIHR @ 3R I Ak &t FH ol HIH Uget QI

1. Imperturbable
2. Impermeable
3. Imperative

4. Impersonate
5. Imperceptible

Ans o A.3,52,4,1
X B.1,234,5
X C.3,51,4,2
X D.3,51,24

Question ID : 97675534792
Status : Answered
Chosen Option : A

Section : General Hindi
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Q.1 ‘THF-THE | i< A1 §HH 87
Ans X A IRy

X B.f&1

< C. srrft v

« D.55

Question ID : 97675534820
Status : Not Answered
Chosen Option : --

Q.2 &=t A sm forar arfes ufamifiar & awa g1 ag area fFg yaR &1 87
Ans X A T R

75 B. Ig<h arerd

o C. s ar

75 D. 3udrery

Question ID : 97675534819
Status : Answered
Chosen Option : B

Q.3 ‘fAfa wrerds’ 39 91 i Uehe = a1l 2reg ST § 2
Ans X A. @R

o B. oafd

X coum

75 D. sraeft

Question ID : 97675534814
Status : Answered
Chosen Option: B

Q.4 ‘dhofd g 39 31 i Uehe sheaTdT HETaRT Shi-Er & ?
Ans o A SRS

X B. SR g

< C. afar gaend g

5 D. ISt AR STTH AT

Question ID : 97675534816
Status : Answered
Chosen Option: A

Q.5 e fi forwra g gt gl &' ag fora witanifer T orf & 2
Ans o A RS AAS @ At A a2 gt

#< B. TRa a1 R Arar

75 C. 9 &Y = g i ameft

25 D. Tt R A7 A- 3o, UTS, A$HE

Question ID : 97675534817
Status : Answered
Chosen Option : A
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Q.6 ‘rgurdt’ =1 gatgardt 2reg wiFET S ?
Ans X A e

< B. e

X C. e

o D. rmardd

Question ID : 97675534813
Status : Answered
Chosen Option: D

Q.7 ‘# g gt Aol Wil &y T &' Ig are fR YR 1 g ?
Ans X A Ggh ared

o B. s ar

25 C. 4311 Iuare

75 D. T arer’a

Q.8 3T UTT YU <Rl hIHT SSTEI0T & ?
Ans X A Hgdre

o B. 30

X C.a%H

D gei

Question ID : 97675534818
Status : Answered
Chosen Option : A

Question ID : 97675534815
Status : Not Answered
Chosen Option : --

Q.9 srifafEa d T aTerg 8 ?
Ans o A ST

< B.@mm

K Cae

X D. wfa

Question ID : 97675534812
Status : Not Answered
Chosen Option : --
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